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Supplemental Graphs
https://www.ingber.com/path17_quantum_pathint_shocks_supp.pdf

Graphs are developed using data for real (Rl) and imaginary (Im) parts of the numerical path-integral
evolution of ¢ and of the exact ¢, wave functions. In each of the following 192 figures, the title
Ww(@gA=W,t=X,n=Y,0d = Z) is used to denote each such set of 4 graphs, where W is the value of gA
set to {0,10728,10728}, X is the value of time 7 set to {0.5,0.1,0.15,2.0}, Y is the value of the “shock”
multiplier of the random number described above set to {0,0.01,0.1,0.2}, and Z is the value of the
number of off-diagonal (od) elements on each side of the diagonal used for the numerical path integral set
to {3,7,9,13}.
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